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Exp.05

d water | 0.9947 g/ml | Vwater 25 ml room temperature 32.2°C
Wwater | 24.8675 g room pressure 748.4 mmHg
Run (EE2E) 0 1 2 3 4
Wsolute 0.162 0.169 0.165 0.152
Wsolute, total 0.000 0.162 0.331 0.496 0.648
runl LL 0.162g NaCl 2531
Time (s) | ;A /& ()| Calculation ., .
; ”ﬂgi) T(°C) v.s. time(s) for 0.162g NaCl
10 4.93 7.0
20 3.90
30 3.05 600 ®
40 2.25 :
50 1 55 y:‘0.101X+6.022
60 | 090 500 | §
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110 347 3.00 . y = -0.000x + 3.525
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140 | 3.46 200
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180 3.44 °
190 3.43 0.00
200 3‘43 0 50 100 150 200 250
210 3.43 time (s)
220 3.42
230 | 342 (1) AT
240 3.4] g = Wsolute,water = 0.162g
250 | 3.40 G = Weoppens = 0.9949% x 25.00ml
260 3.40
= 24.8725¢

AT = 3.51 —3.88 = 0.37
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Calculation (24 0.162 g NaCl A/51))

(2)
1000g °Cxkg
o 1000 X K; X g _ kg X 1.86 — X 0.162g 3273 g )
app ATy X G 0.37°C x 24.8725g ) mol
Myact 58.44%
i—1  Mappy 32732
= = = mo == 0.79
-1 Tn-1 2 -1

(3) Mapp VS. Wsolute,total

PRITEEIf% 0.162¢ NaCl FYBH(RBEGRIE » TLUETE
y = —0.1247x + 0.9391 r? =

x=00%y = 30.109%

Run (E5E0) 0 1 2 3 4
Wiolute 0.162 0.169 0.165 0.152
Wiolute,total 0.000 0.162 0.331 0.496 0.648

Run (5% 0 1 2 3 4
Tt 3.88 3.51 3.08 2.69 2.34
ATt -0.37 -0.80 -1.19 -1.54
Wiolute,total (2) 0.162 0.331 0.496 0.648
Mapp 32.73 30.80 31.14 31.45

a 0.79 0.90 0.88 0.86
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